
��
��

Menuetto

G��
p
5 : 5 B k5�5 5 5 5 5 5 k5�5 5 55 5M : 5M 5M : 5M 5M : 5M! 55! 55� =

k5�
cresc.

5� 5 55 5 5 k5�5 5! 55

��� 4 5M 5
5 5 5 5 5 5E 5 5 5 5! 5 5E 5 5 5 5 55 :5� = 4 = 5 :5� 5 5 55

6G�� 5 5 k5� � k5�5 5 5 5 k5�5 5! 5 5 5 5 5 5 5M!� 3
p

5$ 5 5� =

��� 5� 5 :5 5 55 5 5�
5
5

55 55 55 5� =5�
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Supplementary Example 4.1
Beethoven, Piano Sonata in B-flat, Op. 22
third movement, 1–8

1

Analyzing Classical Form



�

�

Allegro moderato

GEEE = ? = 5
L 5L 5L �5 : 5 5$5 :55 :5 5 5 4 = 5555= 55555555= =

55555 5 5

�EEE 5 :5 5 5 5 5 5
5L 5L 5L 5L 4 G 55 55

�5 5 = 5 :5 5 5 5 5 =5 5
5 5 55 5 5

4GEEE 555 = 5555= 555 = =
�EEE = 5�

5� = 5� =5� 5�
5� =
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Supplementary Example 4.2
Haydn, Piano Sonata in A, H. 26
first movement, 1–4 (R=½N)

1

Analyzing Classical Form



�

�

Adagio cantabile

G����
p

5MB 5M 5B 5 : 55 55 5 5 5 55 : 5� = cresc.
55M 55M

sf

55 :: 55� 55! 555555
p

55 :: 55 55� 55� = 55M 55M B5 : 5B 5 5! 55

����� BB BB 5 55 55 :: = 55 :: 55 55 BB :: 55 :: 55 5 5� =
55 55 BB! 55 :: 5555

6G���� 5 5� =
cresc.

5 5 5 5 5 5 :�!
p

5 5 55 !k5� 555 : 5 55
����� 55 :: =

555 555 555 ::: 55 55 5
55 55
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Supplementary Example 4.3
Beethoven, Violin Sonata in C minor, Op. 30, No. 2
second movement, 1–8

1

Analyzing Classical Form



��

��

G�� 5
5

cresc.

5 5! 5 5E 5
f

5 : 555 55 55 ::
p

5 5! 5� BB 55 BB
f

55
p

55 55 : 555 : 5 5 4

��� 4 55 55 55!! 55 55EE 55 55 55 55 55
BB

5 : 5 5 55E 5 : 55 55!� !5B : 5 5 55 5
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Supplementary Example 4.4
Mozart, Piano Sonata in B-flat, Anh. 136
third movement, 1–8

1

Analyzing Classical Form



��

��

Allegro assai

GEE
p

BB 55 55 55 55 55 BB : 5 5 55 5 5M
poco f

5 5 5
sf

5 5 5
p
5 5 5 5 BB 55� =

�EE 5 5 5 5 5 5 5 5 5 5 4 4
pp

BB 55 BB 55 5B 5 55 5 5 5
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Supplementary Example 4.5
Haydn, Symphony No. 93 in D
first movement, 21–28

1

Analyzing Classical Form



��
��

Allegretto

G���� 0 0 0 5 5 5! 5 5 5 B5 5 �55 B5 B 5�55 BBB 555 55 4
�����

p

55 55 55 5!5! 55 55 55 5 5 5! 5 5 5 5 5 55 BB5 5 5 5 5 5 5 5
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Supplementary Example 4.6
Beethoven, Piano Sonata in F, Op. 10, No. 2
second movement, 1–8

1

Analyzing Classical Form



��
��

Moderato

G��� 5 �
5 : 5! 5H 5H 5 5 5 5 5 5H 5H 5$5 5 5 : 5� 5 5 : 5! 5 :55 5 :5 5� :5 5 5 :55 : 555 5� =

���� BB BB 55H 55H
!! 55H

5, 3 : 5! 5 :55 5 3 :55 :55 5 = 5� = 5
�
5�

55 5�5� =
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Supplementary Example 4.7
Haydn, Piano Sonata in E-flat, H. 25
first movement, 1–4 (R=½N)

1

Analyzing Classical Form



��
��
��
��

Andante grazioso1

2

G��
m.v.

5MM 55M 5M 5 5 5 5 5! 5M55M5 5 5 5 5 5! 5MM 5� 5M 5M 5MM 5 5M! 5 5 5M! 5M 5M! 5 5� =

G��
m.v.

5MM 55M 5M 5 5 5 5 5� 5MM 5 5 5! � = 5MM 55M 5M 5MM 5 5M 5 5 5M� 5M! 5M 5! 5� =

���
m.v.

5 5 5E 5 5M 5!� 5 5 5M 5 5� = 00 4 = 5� 5� 5 5M� 5 5� =
��� 00 00 00 00

m.v.

5 5 5E 5 5! 5 5� 5E 5 5M� 5M 5M 5M 5M 5� =
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Supplementary Example 4.8
Haydn, String Quartet in F, Op. 74, No. 2
second movement, 1–8

1

Analyzing Classical Form








GEE

p

5 5 B 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
f

5M 5M B 5 5 5 5
�EE ? G 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5B 5 ? � 5 5 5 5 5 5 5 5

6GEE 5 5 5 5 5 5 5E 5 5 5 5 5 5 5 5 55 55 55
�EE 5 5 5E 5 5 5 5 5 55 55 55 55E BBB
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Supplementary Example 4.9
Mozart, Piano Sonata in D, K. 284
third movement, 1–8

1

Analyzing Classical Form



��

��

Largo e sostenuto

G�
f
555 5 :5 : 5! 5E 5� 5B

3

5 5 5 5E 5 : 5 55 5 5! E55 5 5
35 : 5 5 5 55 5 5 5 5 55 5 5 EBB

�� 5555 5 55 : 5 5 B
35 : 5 5 5E B 5 B

35 : 5 5 5 5 5E 55 5 : 5E 5
ten.

B

5G� 55 5 :
3

5 : 5 5 5 5! 5� B
35 : 5 5 55 : 5 5 : 5 55 55 5 5555GGGG 555 55 555 55 555 55 555 55 55B :

ten.
BB

�� 55 !B5 5 5B 5 : 5 5 : 5 5 : 5 5 : 5 55 : 5 5 : 5 5 5555GGGG 555GGGGG 555GGGG 555GGGGG 555GGGGG 5B : B
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Supplementary Example 4.10
Haydn, Piano Sonata in D, H. 37
second movement, 1–9

1

Analyzing Classical Form
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��

Andante un poco sostenuto

G��
p

5 5 5 5 3 5 5 5 5 3 5M 5M 5 3 E5E : 5 55 5 5
sf

5 5 5 5
sfp

E5 5
5 5 5

5 5� =
sf

5 5 35
5 5 55 5 5

��� 4 5 5 5 5 5 5 5 5 55E 5 5 5 5 5 5 5 5 5 5 5 55 55 = 55� 5 5 =
5 5 5 5 5 55�

6G��
sfp

E5� =5 5 5 55 5 5 5 5 : 5 55 5 5 5 8
555 5 5� =5 5

��� 5 5 =
5 5 5 5 5

55 5 55 5 5 5 3 5 5 5 55M 5M5 5
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Supplementary Example 4.11
Mozart, Piano Concerto in B-flat, K. 456
second movement, 1–8

1

Analyzing Classical Form



��
��

G
Allegretto

f

55 5�55 55 55 5B
sf5

sf

E55 55 55 5�55 55M 4 555 EB55 55 555 B5 5
sf

555 BBB �5555E 555 4
� 55 B5 5 55 55 5 5 5 5 55 55M 4 55

55 55 55EE 55 55 55 55 5 5 55 55 4
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Supplementary Example 4.12
Haydn, Symphony No. 97 in C
second movement, 1–8

1

Analyzing Classical Form



��
��
��
��

Andante o più tosto allegretto1

2

GEE
mezza voce

5� 5M 5M 5 5 5 5 5
f

5� 5 5 5 5 5 5 5� 5M 5M 5 5 5 5 5 5 : 5 5� 8
fz

5 : 5 5 5� =

GEE = pizz.

55
� = 5� 5� = 55

�
55� = 55E

�
55
� = =

55
� = 5! � 5� = 5�

fz
5 55 = 55

� =
�EE = pizz.5� = 5� 5� = 5� 5� = 5� 5� = = 5� = 5� 5� = 5�

fz
5 5 = 5� =

�EE = pizz.5� = 5� 5� = 5� 5� = 5� 5 5 = 5� = 5� 5� = 5�
fz

5 5 = 5 5
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Supplementary Example 4.13
Haydn, String Quartet in D minor, Op. 76, No. 2
second movement, 1–4 (R=½N)

1

Analyzing Classical Form



��
��

Allegro

G�� 5 = 5 5 = 5 5 : 5 5 5 5M = 5 5 = 5 5 : 5� = = 5M 5 5 5M 5! 5 5 : 5 5 5! 55� = =
��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

7G�� 5M 5M 5M 5M� = 5 5 : 5� = =
��� 5 5

5 5 5 5 55 :: 55� = =
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Supplementary Example 4.14
Mozart, Piano Concerto in B-flat, K. 595
third movement, 1–8

1

Analyzing Classical Form



��

��

Andante

GE
p

5 :: 555M 5M 5M
� = =

sf

555
�
55�

p
55
M
555
M
55
M

55
�$55M 55 555555� = 5 :: 55M 5M 5M 5M
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5M 5� 5�
p

555M 55M 555ME 55
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�E 55� =
55� =

55� = = 5�5
� 5� 55

M 55
M
5M 55 4 55M� =

555
M
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BBBE 5� 55M 5
5
M 55M

= 5M 5M
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Supplementary Example 4.15
Haydn, Symphony No. 104 in D (“London”)
second movement, 1–8

1

Analyzing Classical Form









Var. VII

G�
p

5 5 5 5E 5M 4
85M 5 5 5 4

85M
f

5 5 5 5 5E 5 55 5 5E 5 B55 55E

p

5 5 5 5E

�� ? G = 555 555 555 = �555 555 555 =
555 555 555 = �

555E 555 555 55 55!! 55!! 55�� BB ?

124

G� 5M 4 85M
cresc.

5E 5 5E 4 8
f

5M 59 5 5
p

B 5! M 5E 5 4
�� =

555 555 555 = �555 555 555 = 555! 555 555 = 555 555 555 555 4 BBB! 55 4
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Supplementary Example 4.16
Mozart, Piano Sonata in D, K. 284
third movement, 120–27

1

Analyzing Classical Form
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Allegro

G
p

5 5E 5 5M 5M 5M
45
M
=5
M
5M B :555 5M 5M

5M
B :5M 5M 5M
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9G
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f

5� 5 5 5ME
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5 5E 5 5M
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5 5E 5 555 555! 555E 555 =

G 55ME� 5M 5M
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M�� 55
M

55M 55M
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Supplementary Example 4.17
Beethoven, Piano Sonata in C, Op. 2, No. 3
third movement, 1–16 (R=2N)

1

Analyzing Classical Form



��
��

Menuetto

GEE
f

BBBBMMMM 5555 5 5 5 5 5 5 5555 5555 5555 4 4
p

BBMM 55 5 5M 5 5M

�EE 55 55
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55 4 4 4 55 55
55 4 4 BM4 5 5E 55 4 4

7 MM

MM

GEE 5 5M 5 5M 5 5M 55 4 4

�EE
555 555 555 55 55 55
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Supplementary Example 4.18
Mozart, Symphony in D, K. 385
third movement, 1–8

1

Analyzing Classical Form


